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(kg/hr) (kg/hr) (kg/hr) (&)
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
fotr 2.277 0.004 - 0.037 0.012 &
S TR 1.512 0.003 - 0.485 0.045 =
24L& (HCI) 4.545 0.044 - 0.294 0.182 =
mIbE (HF) 0.306 0.012 - 0.101 0.047 s
—E/Ehi (SO2) 15.147 0.026 - 4.911 1.975 =
—&Ei% (CO) 7.578 0.002 - 0.083 0.031 =
FALY) (NOx)
DL=EEE (NO) 30.303 1.026 - 7.124 2.358 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.009 - 0.016 0.012 &
A Pk 0.756 0.017 - 0.077 0.045 =
/b= (HCI) 0.756 0.145 - 0.226 0.183 s
mIbE (HF) 0.072 0.041 - 0.054 0.047 =
— &b (SO2) 3.789 1.664 - 2.566 1.975 =
—&Ei% (CO) 3.789 0.005 - 0.068 0.031 =
HEY (NOx)
LIS [EE (NOy) 15.147 1.507 - 4.172 2.357 =
EHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0049 &
IR R g ) 7.575 x 10°° <5.435 x 1020 &
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S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.002 - 0.555 0.010 &
S TR 1.512 0.002 - 0.315 0.062 =
/b= (HCI) 4.545 0.055 - 0.314 0.199 s
mIbE (HF) 0.306 0.004 - 0.083 0.046 s
—E/Ehi (SO2) 15.147 0.005 - 3.193 1.808 =
—&Ei% (CO) 7.578 0.000 - 0.166 0.022 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 0.141 - 6.200 1.055 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.004 - 0.060 0.010 &
S T 0.756 0.040 - 0.089 0.062 =
/b= (HCI) 0.756 0.132 - 0.228 0.199 s
mIbE (HF) 0.072 0.041 - 0.051 0.046 =
— &b (SO2) 3.789 1.548 - 2.247 1.808 =
—&Ei% (CO) 3.789 0.010 - 0.037 0.022 =
HAY) (NOx)
LIS [EE (NOy) 15.147 0.511 - 1.602 1.059 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0012 =
E4EEE" 0.0378 <0.0052 &
R R g ) 7.575 x 10°° <5.947 x 1010 &
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(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.001 - 0.301 0.032 &
S TR 1.512 0.015 - 0.433 0.055 =
/b= (HCI) 4.545 0.034 - 0.298 0.092 s
mIbE (HF) 0.306 0.011 - 0.076 0.037 s
—E/Ehi (SO2) 15.147 0.149 - 3.095 1.624 =
—&Ei% (CO) 7.578 0.000 - 0.064 0.030 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 0.362 - 4.302 1.274 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.001 - 0.176 0.032 &
S T 0.756 0.030 - 0.096 0.055 =
/b= (HCI) 0.756 0.054 - 0.122 0.092 s
mIbE (HF) 0.072 0.022 - 0.043 0.037 s
— &b (SO2) 3.789 1.083 - 1.949 1.623 =
—&Ei% (CO) 3.789 0.016 - 0.046 0.030 =
HEY (NOx)
LIS [EE (NOy) 15.147 0.689 - 2.618 1.274 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 0.0025 =
i fe SEHVAR 0.003789 <0.0013 =
E4EEE" 0.0378 <0.006 &
R R g ) 7.575 x 10°° <6.719 x 1010 &
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(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.002 - 0.009 0.003 &
S TR 1.512 0.012 - 0.395 0.053 =
/b= (HCI) 4.545 0.048 - 0.188 0.082 s
mIbE (HF) 0.306 0.012 - 0.057 0.032 s
—E/Ehi (SO2) 15.147 0.059 - 2.126 1.388 =
—&Ei% (CO) 7.578 0.006 - 0.078 0.036 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 0.427 - 4.587 1.253 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.003 - 0.005 0.003 &
S T 0.756 0.035 - 0.094 0.053 =
/b= (HCI) 0.756 0.071 - 0.108 0.082 s
mIbE (HF) 0.072 0.029 - 0.034 0.032 s
— &b (SO2) 3.789 1.066 - 1.601 1.388 =
—&Ei% (CO) 3.789 0.025 - 0.049 0.036 =
HEY (NOx)
DL & %, (NO2) 15.147 0.943 - 2.048 1.253 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0012 =
E4EEE" 0.0378 <0.0053 &
R R g ) 7.575 x 107 <6.063 x 1020 &
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